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Unit 2 ­ Rate of Change
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Introduction...
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Interpreting distance/time graphs & speed/time graphs
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Interpreting data from a table...

What would go here if this person
traveled at an average of 80 km/h
between the 60th and 75th minutes of
their trip?

What would go here if this person's average speed 
remained the same during the last 15 minutes of the 
trip as it was during the previous 15 minutes?

What is the average speed traveled
during the first two 15 minute intervals
of this trip?

What happened between 45 and 
60 minutes during this trip?
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-  Page 76:  Investigation #1
Do questions #1 - 6

Note:  Convert minutes to hours

HOMEWORK



8

WARM-UP...
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Attachments

Derivatives Worksheet.doc


Calculus 120


Derivatives
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The following questions are for educational (or entertainment) purposes.  


Use these questions as you feel necessary.
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